)

| Installation Instructions

1. Open box 1 and 2 and confirm you have all the parts 4. Install center support and secure in place with 8x55mm
needed to assembly your display. bolt into lower stand plate and 8x45mm bolt between
back support and center support.

Absolute Top Level®

401 South Grand Ave., Santa Ana, CA 92705
Tel: 714.550.6070 Fax: 714.550.9661 www.twobros.com

V.A.L.E.

VARIABLE AXIS LOCKING EXHAU

TBR
Dealer Display

Part # 005-D3C

5. Install upper back support onto lower back suport and
secure with 1 8x45mm and 2 8x10mm bolts in sides.

2.  Locate lower stand retainer and plate, set lowerstand
plate over retainer and line-up mounting bolts.

3.  Set lower back support on lower stand plate and mount
with 2 8x55mm bolts.




| Installation Instructions

8. Install rack and pegs. 10. Install 22" shelves.

Absolute Top Level™

401 South Grand Ave., Santa Ana, CA 92705
Tel: 714.550.6070 Fax: 714.550.9661 www.twobros.com

V.A.L.E.

ARIABLE AXIS LOCKING EXHAUST

TBR
Dealer Display

Part # 005-D3C

6. InstallTBR name plate using 8x10mm bolt.

11.  Install muffler.

7 Install exhaust display using the 2 8x15mm bolts/
nuts.

12.

Install leveling feet.




